RIEXRE 100 BBEE  HRFTELIE  FAESHHGER

¥ ® # B N ,

AR H a A (f x % #) O I St
THIRSAALE | i Sy 3A208 | 276 | LB

Cho RS2 — R )

HA L TERHFRREEWY A ME R - FATER

— BT AR G Y =T )

(a.) y+&+Dy’=0  (10%)
(b.) +y'+x-D=0, y(D)=0  (10%)
(c.) ¥y +x’y=4x>, y(0)=-1 |

(10%)

= BB ISR HRERGEE =Y, y=1Y )
(a.) ¥'+y=3x"  (15%)

(b.) y”+y’—2y:14+2x~2>§2, y(0)=0, y'(0)=0 (15%)

= BRTFF Fe) 2 KAEES (Laplace inverse) () -

s+1
2

(a) Flo) =~ 7 =7 (%)
(b) FO=—  f)=?  (8)
4{s +1 .
(c.) F(S)=*~Sz(_l6) =2 (8%)
I~ 3K T3 )22 Laplace F(s) o
(a.) f(t)=sintcost F(s)=7? (6%)
(b.) f(t) =—5cos(0.4)t F(s)=7? (5% )

(c.) f(t) =cos?mt F(s) =72 (5%)






